MODEL QUESTION PAPER

As per the NCERT Syllabus (To be followed from (2007-2008 onwards)

Subject: BUSINESS STUDIES (ORG OF COMM)

Max.Marks: 100                             Std:   XII                                           Time: 3 Hours  

Total No. of questions 10 (Ten) 


Instructions:

1. All questions are compulsory.

2. Answer each question on a fresh page

3. Number each question and sub-question clearly.

4. Figures to the right indicate the marks allotted to each question.

5. There is no overall choice.  However internal choice has been provided in two questions of 4 marks each and one question of 2 marks each.

6. ‘A’ part of every question is very short answer type.  ‘B’ part of every question should be answered in about 30 words ‘C’ part in about 60 words and ‘D’part in about 100 words. 

7. The word limit is not applicable for questions involving explaining of a process, diagram, charts and distinctions.

Q.I.   A.
Select  and write the most appropriate alternative from those given below to complete the statement.



Which Principle of Management is violated in the following situation?

(1) A worker in search of a tool-box

(a) Principle of Unity of Command

(b) Principle of Discipline

(c) Principle of Espirit De Corps

(d) Principle of order
(1)


B.
Explain by giving any two reasons as to why Management is considered as an “Art”?
(2)


C.
Explain with suitable examples the Technique of “Time Study” and Differential Piece-Rate System as advocated by Taylor.
(3)


D.
“Co-ordination is considered as the essence of Management.”  Explain the statement by giving any four reasons to support your answer.
(4)

OR

D.
“Management” is a Universal Activity” that is integral to any organization.  Explain by giving any four reasons.
(4)

Q.II.
A.
Select and write the most appropriate alternative from those given below to complete the statement.


(1)
The Father of Modern Management is  ______________ .



(a) Henry Fayol



(b) Fredrick Taylor



(c) Peter Drucker



(d) Abraham Maslow.
(1)


B.
Explain the principle of “Scalar-Chain” with the help of a diagram.
(2)


C.
What are the effects of “Liberalisation” and “Globalisation” on Indian Business and Industry.
(3)


D.
The Success of a Business Enterprise is significantly influenced by its Environment.  Explain (Any four points)
(4)

OR


D.
The Business and Industrial Sector has undergone a lot of changes due to New Government Policy of 1991 Explain (Any four points)
(4)

Q.III.
A.
Give the commercial Term for the following.


(1)
The process which provides direction and reduces the risk of uncertainity for a business firm.
(1)


B.
In an Electrical Goods Manufacturing Company, there are four main activities – “Marketing”, “Production”, “Finance” and “Personnel”.  The General Manager is planning to structure the Organisation.  Which type of organization  structure should be adopted? Explain.
(2)


C.
Delegation is a process involving “Authority”, “Responsibility”, and Accountability.  Ex[plain.
(3)


D.
“Planning” provides the basis of all other functions of Management.  Comment  (Any four)
(4)

Q.IV
A.
Select and write the most appropriate alternative from those given below to complete the statement.


1.
Span of Management refers to ______________________.  



(a) Number of Managers.



(b) Length of term for which a manager is appointed.



(c) Number of subordinates under a superior



(d) Number of members in top management.
(1)


B.
A Public Transport Company has hired 50 buses for passengers of various cities.  The drivers, Conductors, Helpers etc of these buses seems to be little interested in the job.  As a Manager, which methods of Training would you suggest to improve  the  working of these employees/ Explain.  (Any two)
(2)


C.
Explain the following External Sources of Recruitment:-



(a) Advertisement (b) Web-Publishing (c) Campus Recruitment.
(3)


D.
Organising involves a series of steps that need to be taken in order to achieve the desired goals.  In view of this statement explain the process of organizing.





(4)

OR

D.
The organizing function of Management plays a crucial role in a Business Enterprise.  Explain (Any four points)
(4)
Q.V.
A.
Select and write the most appropriate alternative from those given below to complete the statement.


(1)
The highest level need in the Need Hierarchy of Abraham Maslow is _____ .   



(a) Safety Need



(b) Belongingness Need



(c) Self Actualisation Need



(d) Prestige Need.
(1)


B.
State and explain any  two principles of Directing.
(2)


C.
Motivation induces the employees to give their best to the organization.  Explain. (Any three points)
(3)

OR

C.
All organizations face barriers to Effective Communication with reference to this statement.  Explain any three measures that can be taken for improving Communication Effectiveness
(3)


D. 
A Good Leader should possess certain qualities in order to discharge his responsibilities effectively.  Explain the statement by highlighting any four qualities.
(4)

Q.VI.A.
Give the Commercial Term for the following:-


(1)
A Technique of Managerial Control which studies the relationship between Costs and Profit.
(1)


 B.
How is planning related with Controlling ? Explain briefly.
(2)


 C.
Explain briefly the importance of Controlling in the process of Management.  (Any three points)
(3)


 D.
Describe briefly the steps involved in the process of staffing.
(4)

Q.VII.A
Answer the following in a word or a phrase.


(1)
The Assets which can be converted into cash within a period of one year.
(1)


 B.
Explain briefly any two factors which a company should consider while planning its capital structure.
(2)



 C.
Financial Planning helps in the Survival and Growth of Business.  Explain.      ( Any three points)
(3)


 D.
What is meant by Stock Exchange?  Explain any three of its functions.
(4)

Q.VIII.A.
Give the Commercial Term for the following:


(1)
The Total Marketing Programme of a Firm.
(1)


 B.
Distinguish between “Selling” and “Marketing”. (Any two points)
(2)


 C.
Securities Exchange Board of India(SEBI) promotes the development and protects the interests of the Investors in a Stock Exchange.  Explain.(Any three points)
(3)


 D.
Explain any four factors which determine the choice of “Channel of Distribution”.
(4)

Q.IX.A.
Select and write the most appropriate alternative from those given below to complete the statement.


(1)
The Right of the Consumer which gives him an access to a variety of products and services is called_______________ .



(a) Right to safety



(b) Right to be Heard



(c) Right to choose



(d) Right to seek Redressal
(1)


B.
Explain the following categories of Industrial Goods:-



(a) Materials and parts



(b) Capital Items.
(2)


C.
Though Advertising promotes Goods and Services, it attracts a lot of criticism.  Explain (Any three points)
(3)


D.
Explain briefly the following ways and means of Consumer Protection.




(a) Business Associations



(b) Consumer Awareness



(c) Consumer Organisations



(d) Government
(4)

Q.X.
A.
Select and write the most appropriate alternative from those given below to complete the statement.


(1)
The Consumer Protection Act was passed in the year___________________ .



(a) 1958



(b) 1975



(c) 1982



(d) 1986


 B.
Explain any two Redressal Agencies which deal with Consumer Grievances.
(2)


C.
Explain any three competencies that contribute towards Entrepreneurial Performance and Success.
(3)


D.
Entrepreneurship contributes significantly towards the economic growth of a Country.  Explain (Any four  points.)
(4)
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